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B.Tech. II1 Semester
Examination, November 2022

Grading System (GS)
Mathematics - I11
Time : Three Hours
Maximum Marks : 70
Note: i) Answer any five qucst'ia@
fap-dl ot wedl &l g@%’rﬁm
ii) All questions cm@%’qual marks.
Tt 7ol & 3w Bl _
iii) In case of any doubt or dispute the English version
question should be treated as final.
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a) Find a positive root of the équation by iteration method
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b) Using Lagrange’s interpolation formula, find y(6) from
the following data: 7
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2) Evaluate 0 by dw'd'"lll the range into 10, Cqual

parts using
i} Trapezoidal rule !

1) Simpson's 1/3 rule
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b) Using Gauss-Seidel iteration method to solve the system.
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10x+y+z=12,2x+ 10p+z= 13, 2x + 2p + 10z = 14.
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3. a) Given that Sin45 = 0.7071, Sin50 = 0.7660, SinS5 =
0.8192, Sin60 = 0.8660. Then find the Sin58 by using
Newton's backward interpolation formula. 7

feam mm & 5 Sind% = 0.7071, Sin50 = 0.7660, Sin55 =
0.8192, Sin60 = 0.8660 R g7 & B Sexaets @

1 ITANT ISP Sins8 7 TdT AV |
. . 6 dx g
b) Using Simpson's 3/8 rule, evaluate I 5 by dividing
01+ x
the range into ¢ equal parts. 7
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4. Given & - . _ 7. a) 20% of items produced fr
?ven 2~ TSI yandy(0)= 1. Compute)(0.2) and y(0.4) the ;mbablhrypmat a ﬁarzg:ea{,?:[:g;l: dtefec;lwe Find
with /2 = 0.2 using Euler's modified method. 14 i i) Noneis Defective atrandom. 7
dy ii) One is Defective
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5. a) UsingLaplace Tmsfonm{val@te I cosat —cosbt dt . iii) P(1 <x<4) =
QK\ ! 4 _ b) Ifarandom variable has a Poisson distribution such that
& P(1) = P(2). Find out . 7
o COS @l — COS bt i 1] Mean of the distﬁbution ’
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\ , 313 fardt Z1gfRseh =) &l Poisson distribution 39 PR 2
b) Find 7 & P(1) = P(2)! T
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[ L _ iii) P(1 <x < 4) ~
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(3 ta ) ! 8. a) Denve Mean of the Normal Distribution. 7
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6. Using Laplace Transform, Solve (D*+ 2D +5)y =¢'s 14 b) Using Runge-Kutta method of fourth order solve y'=xy,
M) =2atx=12 with = 0.2 7

given that y(0) =0, ¥ 10)=1.
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